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Directions: In each question below a sentence with four

words printed in bold type is given. These are numbered
(1),(2),(3) and (4) . One of these four words printed in bold
may be either wrongly spelt or inappropriate in context of
the sentence. Find out the word which is wrongly spelt or
inappropriate if any. The number of that word is your
answer. If all the words printed in bold are correctly spelt
& also appropriate in the context of the sentence, mark (5)

"All correct" as your answer
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QUESTION1 o0:30

The show includes movie clips (1) , prop and
creature makeup demonstrations (2) and gives a

fascinating (3) insight into the moviemaking (4)
process. All correct (5)
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QUESTION2  0:30

After staying (1) in Rome for five days we visited
(2) a few more cities (3) in Italy and Switzerland

and came back with memorys (4) to cherish. All

correct (5)
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QUESTION 3 0:30

Leh has many handecraft (1) shops and hotels
and historically (2), it has been the hub (3) of a
bustling (4) caravan trade between Kashmir and
Tibet. All correct (5)
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QUESTION 4 o0:30

When you catch (1) the early rays (2) of the sun
in the mountains (3), it is a one of its kind serene
(4) experience. All correct (5)
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Directions (1-5):In the following question, a

sentence with three words given in bold type is
given. These are numbered as (A), (B) and (C).
These three words given in bold may or may not
be used at their correct place. Choose the option
which shows the correct sequence of words

according to their appropriate place.
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QUESTION 5

The causes of labour (A) should get more attention and
the question (B) why women own and earn so little, most
of them put in plenty of unpaid inequality (C), needs to
be addressed socially.

1) ACB

2) BCA 0:45
3) BAC

4) CBA

5) No change required
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QUESTION 6

Mostly, the billionaires (A) are so rich because they own
a value (B) number of assets and the market vast (C) of
their assets is very high.

1) ACB
2) BCA
3) BAC
4) CBA 0:45

5) No change required
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QUESTION 7

The business imploding (A) because of another instance
of government heavy-handedness will send a fresh bad
signal about India’s business climate, though (B) for the
country’s telecom industry, the outlook will remain
somber (C).

1) ACB

2) BCA 0:45
3) BAC

4) CBA

5) No change required
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QUESTION 8

Land prices are being kept artificially vested (A) in
order to facilitate private (B) rent-seeking by
bureaucrats and politicians who have a high (C)
interest in this arbitrariness.

1) ACB

2) BCA

3) BAC 0:45
4) CBA

5) No change required
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QUESTION 9

The nuanced (A) truth is that while auctions may
be the scarce (B) way to allot cleanest (C) natural
resources to private parties, their design makes
all the difference.

1) ACB

2) BCA

3) BAC 0:45
4) CBA

5) No change required
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Direction (6-10): Which of the following phrases
(1), (2), (3) and (4) should replace the highlighted

phrase in the sentence to make it grammatically

correct. If the phrase is correct as it is given and

no correction is required, mark (5) as the answer.
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QUESTION 10

The country’s broken financial system would take a fresh hit,
new 5G networks could be delay and the government’s
annually revenue of the sector might get squeezed.

1) could be delayed and the government annual revenue of

2) could be delayed and the government’s annual revenue from
3) could delayed and the government’s annual revenue of

4) could be delay and the governmental annually revenue from
5)No correction required

0:45
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QUESTION 11

Democracy is far more of the periodic ritual of
exercise our franchise, yes, but it cannot be reduced
to an index reading either.

1) than the periodic ritual of exercise our franchise
2) of the periodic ritual to exercising our franchise

3) of the periodic ritual of exercising our franchise

4) than the periodic ritual of exercising our franchise
5) No correction required

0:45
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QUESTION 12

India, of course, is the world’s largest democracy and
holds regular elections involving larger numbers than the
populations of the chart toppers put together.

1) wor
PARY o]g
3) wor
4) wor

ds larger democracy and holds regular elections

d’s largest democracy and holding regular elections
d largest democracy holding regular elections

d’s larger democracy which holds regular elections

5) No correction required

0:45
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QUESTION 13 0:45

Going by an all-adult consensus could mean no
decision ever gets taken, while dictatorship
deprive people to any say in its collective destiny
and subjects them to the tyranny of whimsy, or

WOrse.

1) deprive people of any say in our collective

2) deprives peop
3) deprives peop
4) deprives peop

e to any say in our collective
e of any say in their collective
e to any say in their collective

5) No correction required



/$BI CLERK 2022 / at 10:30 am o

QUESTION 14 0:45

It is time that governments start taking
responsibility for the actions of their predecessors
and as our politics becomes increasing polarize,
these trends are acquired ominous proportions.

1) increasingly polarized, these trends are acquiring
2) increasing polarize, this trend is acquired

3) increasing polarized, these trend are acquired

4) increasingly polarized, this trend is acquiring

5) No correction required
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Direction (15-16): Read each part of the sentence

to find out if there is any error in it. The error, if
any, will be in one part of the sentence. The
number of that part is the answer. If there is no

error, mark your answer as (5).
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QUESTION 15

1.The U.S. and China are set to sign a phase-one trade
2.agreement on Wednesday, but a report suggested
that

3.existing tariffs on billions of dollars of Chinese goods
coming into the U.S

4.are likely to stay in place until the American
presidential election.

5.No error

0:30
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QUESTION 16

1.Growth in Wipro’s key banking, financial
services and insurance unit

2.stood on only 1% on a year-on-year basis
which makes it quite clear that

3.the company has a relatively higher exposure
to clients facing troubles in

4.this segment, which is reflected in the poor
growth.

5.No error 0:30
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Directions (Q17-18): In the following question, a

sentence is given containing a highlighted word
and three words have been given below it. Choose

the word(s) which can replace the word given in
bold.
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QUESTION 17

The accepted conventional wisdom is that economic
reforms in India happen only in a crisis or by stealth

1. Only A

2. Both Band C 0:45
3. Only B

4. Both Aand C

5.

Only C
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QUESTION 18

Until the mid19th century, India was
considered as one of the biggest dominant
forces on the global stage.

01. Only A 02. Both B and C
03.Only B 04. Both A and C
05. Only C 0:45
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